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Abstract 
Erdős asks if it is possible to have n points in general position in the plane (no three on a line or 
four on a circle) such that for every i ( 1 1i n≤ ≤ − ) there is a distance determined by the points that 
occur exactly i times. So far some examples have been discovered for 2 8n≤ ≤  [1] [2]. A solution 
for the 8 point is provided by I. Palasti [3]. Here two other possible solutions for the 8 point case as 
well as all possible answers to 4 - 7 point cases are provided and finally a brief discussion on the 
generalization of the problem to higher dimensions is given. 
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1. Introduction 
It seems certain that if n is large enough the Erdős problem mentioned above has no solution [1], but Erdős of-
fers $50 for a proof (and $500 for examples with n arbitrarily large). So far, examples have been discovered for 
2 8n≤ ≤ . These are due to Pomerance (5), Andy Liu and several Hungarian students (6), and I. Palasti (7, 8) [1] 
[3]-[5]. The remaining questions are as follows: 

1) Is there an example for n = 9 or no such examples exists? [1] 
2) How many independent patterns are there for 9n <  in the plane? 
3) Is it possible to have n arbitrarily large for the same problem in 3 , or indeed in d  for any 2d ≥ ?  
The aim of this article is to analyze the second question and give a brief discussion about the third question. 

Indeed all possible solutions for 2 8n≤ ≤  will be introduced in this text and for n = 9 some examples will be 
presented that are very close to the intended solution. Accordingly, first the easier 4 point-2D cases are dis-
cussed and then 5, 6, 7 and 8 point cases are presented and finally a brief discussion of higher dimensions will 
be provided. The general position condition prevents obvious symmetries. Without this condition, the problem 
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has trivial solutions for any number of points. Since by adding additional number of points, the number of equa-
tions is increased faster than the number of free variables, to find the resulting algebraic equations’ system, a 
different type of symmetry is required. For example, for 2D cases, if the number of points is more than 5, the 
number of free variables will be less than the number of equations. There are 14 free variables in 9 point case 
while 28 quadratic equations must be solved simultaneously. By increasing the number of points, equilateral and 
isosceles triangles and parallelogram will appear in the figures. 

2. Problem in 2D Case 
Let { }1 2, , , nP P P

 be n point in the plane corresponding to a solution of Erdős problem, where ( ),i i iP x y= . 
And suppose that n − 1 distinct distances produced by these points are: { }1 2 1, , , nl l l −

 so that the length li re-
peats i times and the distance between the points iP  and jP  are presented as ijd . Without loss of generality, 
we can choose ( )1 0,0P =  and ( )2 1,0P =  and thus 12 1d = . We have systems of quadratic equations like  

ij kld d=  with 2n − 2 free variables and 
1

2
n − 
 
 

 equations. Therefore, the coordinates of iP  and lengths of il   

will be algebraic numbers. It is possible to consider a graph pattern for each solution so that the weight of the 
edges of the graph corresponds to the number of relevant repeated lengths appeared in the geometric solution of 
the problem which is a number between 1 to n. 

2.1. 4 Point Patterns 
The solution of the 2 point case is single line and in 3 point case it is an isosceles triangle which is not an equi-
lateral triangle. For 4 point case, the following 5 solutions are available that the last two solutions have a unique 
graph pattern in Figure 1 where the edges with the same color are equal. In all above cases, it is possible to con-

sider 3 3
1 ,
2

P y= 
 
 

 in which 3y  is an arbitrary variable. In this case, the coordinates of 4P  for the above 5 

cases can be obtained by the following Table 1. 
In order to generalize the problem, if the sequence of distinct lengths which is the set { }1, 2, , 1n −

 is con-
sidered, it can be seen that except the case stated in the problem, it is possible to consider other sequences for 
distinct lengths that have the same number of members. For example, in 4 point case except the sequence related 
to the main questions raised in the form of {1,2,3}, it is possible to consider the sequences {1,1,4} and {2,2,2} 
and analyze their solutions as well and the solutions of these two sequences are shown in Figure 2. 

The sequences listed above for 4 point case, have one free variable. Other possible cases for the 4 point prob-
lem include sequences {1,1,1,3} and {1,1,2,2} that have two degrees of freedom (two free variables) and the 
sequences {1,5}, {2,4} and {3,3} the degree of freedom of which is zero and in this case we have four fix 
points: 

{ } 3 4
1 3 1 3, ; ,1,5

2 2
:

2 2
P P

   
= − =      
   

 

{ } 3 4
1 33 1 3, ; ,
2 2 2 3

,3 : P P
   

= − = −      
   

 

 
Table 1. 4 point solutions of sequence {1,2,3}.                                                                           
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2
3

2
3
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4
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±

+
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{ } 3 4
1 3 1 3, ; , 1
2 2 2 2

2, 4 : P P
   

= − = − −      
   

 

Note: For four point cases, we have maximum 4 degrees of freedom, but in this problem, we only need to 
discuss about zero, one and two degrees of freedom cases. To find the solution to the main problem for more 
than 4 points a computational algorithm is required which is discussed below.  

Method 1: Suppose that the points 1P  to mP  are provided and the distances between these points produce 
lengths { }1 2, , , nl l l

. To find new points that lead to the solution of the problem for the case of 1n m+ −  
points with the sequence { }1, 2, , 1n m+ −

, the following set of points should be considered as the candidates 
for the new points: 
1) All intersection points of perpendicular bisectors of the sides related to two entrees of points 1P  to mP  
2) All intersection points of the circles with radius 1l  to nl  and centers 1P  to mP  
3) All intersection points of the circles with radius 1l  to nl  and centers 1P  to mP  with perpendicular bisec-

tors of the sides related to the points 1P  to mP  
Note: The main problem is to review various patterns of length sequence { }1, 2, , 1n −

. Therefore the re-
sulted solution in the case of 1n m+ −  should have 2n m+ −  distinct lengths. Adding new points to the 
points 1P  to mP  should make 2n m+ −  distinct lengths with the lengths 1l  to nl  that were already created 
by 1P  to mP . 

Our general strategy to solve Erdős problem is to start with a previously known example, i.e. 4 point or 5 
point case and add new points using method 1. If this method fails we want to show that adding one new point 
with free variable coordinates will enable us complete this strategy by using method 1. Suppose we constricted b 
points in the plane with d distinct distances given by { }1 2, , , dl l l

 and we add a new point with free variable 
coordinates ( )1 1,b bx y+ +  to these b points. The distance between this new point and the previous b points should 
be one of the patterns: 

{ }1 1 2 3 4 1, , , , , ,d d d d d d bl l l l l l+ + + + + + −
 

{ }1 2 3, , , ,d d d d bl l l l+ + + +
 

{ }1 2 3 4 1, , , , , ,i d d d d d bl l l l l l+ + + + + −
 

Because in other cases, this new point can be found using method 1. Note that i d≤  and for t d> , lt’s are 
all new distinct distances. All of the above cases, have at least b-1 new distinct lengths. So if we add j new 
points step by step in this manner we have: 

 
Number of existing points Number of distinct lengths Maximum number of free variables 

b+j ( )
2

1

j

k

d b k
−

=−

+ +∑
 

m+2j 

 
It is obvious that at each step of adding new point, if we have: 
Number of existing points > ln -Number of distinct lengths +1 

then we can obtain all remain points only by using method 1. The maximum number of new points added by the 
above process is called bn  and we have: 

( ) ( ) ( )
2

2

1
1 2 1 2 1 0

bn

b l b b l
k

b n n d b k n b n n b d
−

=−

 
+ > − + + + ⇒ + − ⋅ − − − + > 

 
∑  

We want to start with b = 4 points. For 4 point pattern with m free variables, we have 22d m= + ≥ . So for 
5 8ln≤ ≤  it can be obtained that 1bn = . It means that, for 6 9n≤ ≤  by starting from 4 point patterns and af-
ter that the first point with coordinates of ( )5 5,x y  is added which has two new variables, the rest of new points 
can be obtained by using method 1 in terms of m + 2 free variables. In sections 2.3 to 2.5 we will show that for 
6 8n≤ ≤  point cases, any sequence lengths { }1, 2, , n

 can be obtained by 4 point patterns with less than 
three degrees of freedom. This fact can reduce the operations of method 1 in searching process for finding all 6 - 
9 patterns. 
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2.2. 5 Point Patterns 
Regardless of the dimension, a total of 118 independent weighted graphs are considered for the 5 point case. 
These 118 cases can be classified based on six general cases to have four equal lengths in this graph. To find all 
the possible 5 point patterns, it is necessary to analyze the equation system of 118 independent graphs. In 2D 
case some of these cases may either not lead to a solution or lead to more than one solution. The following Ta-
ble 2 presents the 6 cases of 4 point state along with independent graphs of each state and the number of solu-
tions found in 2D case.  

After solving the equations a total of 89 five point patterns are obtained that other than the first example given 
below, which has one degree of freedom, for the rest of 88 solutions 5 fixed points are obtained. But there is 
another way to analyze all possible scenarios of five point case which is using method 1 because if there is a five 
point pattern with a sequence of lengths { }1 2 3 4, , ,l l l l , it is possible to remove one of the vertices connected to 
the length 1l . Therefore a four point state with 3 point length sequences i.e. {1,1,4}, {2,2,2} or {1,2,3} is ob-
tained and all possible cases of this pattern had already been discussed in Figure 1 and Figure 2.  

 
Table 2. The number of solutions of 5 point in 2D case, for each 4 point state, based on the graph patterns.                 

Total 
  

 
   

 

118 32 32 32 12 6 4 No. of graph patterns 

89 43 30 13 3 0 0 No. of 2D solutions 

 1 - 43 44 - 73 74 - 86 87 - 89   Indexes of the  
solutions in Table 3 

 

 
Figure 1. 4 point solutions of sequence {1,2,3}.                                                                                                 

 

 
Figure 2. Solutions of 4 point with {1,1,4} and {2,2,2} sequences.                                                                                                 
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Our first pattern with one degree of freedom for 5 points that can produce six, seven and eight point patterns 
is called pattern (*) and is as Figure 3. 

1 2 3PP P  is an isosceles triangle with sides of length 1 and 4P  is an arbitrary point on the arc of the circum-
scribed circle of 1 2 3PP P . Also 1 4 5PP P  is an isosceles triangle as well. Angle 4 1 2P PP  is called a which has a  

value other than 0 and −75 degree within the range of −150 < a < 30. The coordinates of 3P  are 1 3,
2 2

 
−  

 
  

and the coordinates of the other two points in terms of a are:  

( ) ( ) ( )( )4 2cos 60 cos ,sinP a a a= + ⋅ ; ( ) ( )5
1 3cos 2 , sin 2
2 2

P a a
 

= − + − +  
 

 

Also, we have the following angle relations: 


1 4 2 150PP P = ; 42 5 90P P P =  

All 89 five point 2D solutions are presented in Table 3, all of which apart from numbers 42 and 43 can be 
obtained by 4 point pattern of sequence {1,2,3}, i.e. there is a vertex whose removal leads to one of the 4 point 
solutions with the sequence of lengths {1,2,3}. 

2.3. 6 Point Patterns 
First we show that all 6 point cases any sequence lengths { }1, 2, , 6

 can be obtained by 4 point patterns with 
one degree of freedom. So suppose that the solution of a 6-point case is available. It is necessary to show that it 
is always possible to obtain a 4 point pattern with three distinct lengths by removing two vertices, i.e. a 4 point 
pattern with one of the length sequences {1,2,3}, {1,1,4} or {2,2,2}. Accordingly consider the corresponding the 
graph pattern with 6 point solution. If we have one of the below cases in the graph pattern: 
 

   
 

The rule is proved by removing the marked vertex in the above figure. Otherwise, the graph is as follows: 
 

 
 
So then one of the following cases is true that either two vertices are removed that are presented in the figure: 
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Or there will be the following case: 
 

 
 
The last case requires a little more analysis. If four edges with the weights 4 are connected to vertices a and f, 

the solution is presented by the same vertices, otherwise there are at least 3 edges with the weights of 5 among 
the edges , , , , ,ae ad ac fb fd fd . If four edges with the weights of 4 are connected to the vertices a and f along 
with two other vertices, it is solved as before, for example in the following case it is just enough to remove the 
vertices a and c and accordingly the edges with the weights of 1 and 4 are removed: 

 

 
 
Otherwise, there must be at least two edges with a weight of 4 among the edges , , , , ,ae ad ac fb fd fd  be-

cause otherwise all five edges with the weight of 5 will be connected to the vertices a and f the removal of which 
presents the solution to the problem. Thus there will be either two edges with the weight of 4 and four edges 
with the weight of 5 or 3 edges with the weight of 4 and three edges with the weight of 5. By forming the equa-
tions for each of the remaining graph patterns with the mentioned constraints and performing the calculations, it 
can be seen that no result will be obtained for 6 point case with the sequence {1,2,3,4,5,6}. So all 6 point cases 
with the sequence { }1, 2, , 6

 can be obtained by the 4-point patterns with sequences {1,2,3}, {1,1,4} or 
{2,2,2}.  

Now, using method 1 and also four and five point patterns it is possible to search for 6 point patterns. 54 solu-
tions are obtained in this way 47 of which are obtained by adding one point to the 5 point patterns and only 7 
solutions are obtained by adding two points to the 4 point patterns. But we guess that, there must be 55 solutions 
in this case based on the probable relation between the number of solutions and Fibonacci numbers which this 
issue has been more explained in section 2.7.  
 

 
Figure 3. Pattern (*).                                                 
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Table 3. 5 point solutions of sequence {1,2,3,4}.                                                                                                 

 5P  4P  3P  n 

 

( ) ( )5 2cos 60 cos 60x a a= + ⋅ −  
( ) ( )5 2cos 60 sin 60y a a= + ⋅ −  

( ) ( )4 2cos 60 cosx a a= + ⋅  
( ) ( )4 2cos 60 siny a a= + ⋅  

1 3,
2 2

 
−  

   
1 

 

( )1.4251, 1.2486−  2.18241 ,
2

 − 
   

1 3,
2 2

 
−  

   
2 

 

( )5

1 5 5 30 6 5
8

x = + − −
 

( )( )5

1 10 2 5 3 3 5
8

y = − + − +
 

1 1, 5 2 5
2 2

 − − 
   

1 3,
2 2

 
−  

   
3 

 

( )5

1 5 5 30 6 5
8

x = + + −
 

5

1 13 5 5 150 66 5
4

y = − − + −
 

1 1, 5 2 5
2 2

 
 
 

−
 

1 3,
2 2

 
−  

   
4 

 

( )5

1 5 5 6 5 5
8

x  = − − + 
   

( ) ( )5

1 3 3 5 2 5 5
8

y  = − + + + 
   

1 1, 5 2 5
2 2

 
 
 

+
 

1 3,
2 2

 
−  

   
5 
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Continued 

 

( )5

1 5 5 6 5 5
8

x  = − + + 
   

5

1 13 5 5 150 66 5
4

y = − + + +
 

1 1, 5 2 5
2 2

 − + 
 
   

1 3,
2 2

 
−  

   
6 

 

( )5

1 5 3 5 6 5 5
8

x  = − − − 
   

( )5

1 7 5 6 5 5
4

y = − + + +
 

( )4

1 3 5
4

x = −
 

( )
4

6 6 5 5

4 3
y

+ +
= −

 

1 3,
2 2

 
−  

   
7 

 

( )5

1 5 3 5 6 5 5
8

x  = − + − 
   

( )5

1 7 5 6 5 5
4

y = − + − +
 

( )4

1 3 5
4

x = −
 

( )
4

6 6 5 5

4 3
y

− + +
=

 

1 3,
2 2

 
−  

   
8 

 

( )5

1 5 3 5 6 5 5
8

x  = + − + 
   

( ) ( )5

1 3 1 5 2 5 5
8

y  = − + − + 
   

( )4

1 3 5
4

x = +
 

4

6 30 6 5
4 3

y − + −
=

 

1 3,
2 2

 
−  

   
9 

 

( )5

1 5 3 5 6 5 5
8

x  = + + + 
   

( ) ( )5

1 3 1 5 2 5 5
8

y  = − + + + 
   

( )4

1 3 5
4

x = +
 

4

6 30 6 5
4 3

y + −
= −

 

1 3,
2 2

 
−  

   
10 
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Continued 

 

( )1.1133, 0.6428−  ( )1.4397, 1.2081−  
1 3,
2 2

 
−  

   
11 

 

( )1.7057,0.9848−  ( )0.2660, 1.5088− −  
1 3,
2 2

 
−  

   
12 

 

( )0.3264,0.1188  ( )0.5924, 0.3422−  1 3,
2 2

 
−  

   
13 

 

( )1.2872,0.7431−  ( )0.4135, 0.4593− −  
1 3,
2 2

 
−  

   
14 

 

( )0.3601, 0.2079−  ( )0.6045,0.1285  
1 3,
2 2

 
−  

   
15 
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Continued 

 

( )0.1691, 1.6092− −  ( )1.7226, 0.9945−  
1 3,
2 2

 
−  

   
16 

 

( )0.7045, 0.4067−  ( )1.4782, 0.6581−  
1 3,
2 2

 
−  

   
17 

 

( )0.6229, 0.2177−  ( )0.3517,0.1229  
1 3,
2 2

 
−  

   
18 

 

( )0.9889, 1.1483− −  ( )1.2823, 1.4889−  
1 3,
2 2

 
−  

   
19 

 

( )0.4752, 1.0872− −  
1 , 1.7630
2

 − 
   

1 3,
2 2

 
−  

   
20 
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Continued 

 

1 ,0.4462
2

 
 
   

( )0.3409,0.1212  
1 3,
2 2

 
−  

   
21 

 

( )0.4269,0.1313  
1 , 0.3093
2

 − 
   

1 3,
2 2

 
−  

   
22 

 

( )1.4767, 0.6513−  
1 ,0.6336
2

 
 
   

1 3,
2 2

 
−  

   
23 

 

( )5

1 5 5 30 6 5
8

x = + − −
 

( )( )5

1 10 2 5 3 3 5
8

y = − + − +
 

( )4

1 1 15 6 5
4

x = + −
 

( )4

1 3 5 2 5
4

y = − + −
 

1 3,
2 2

 
−  

   
24 

 

( )5

1 5 5 30 6 5
8

x = + + −
 

5

1y 13 5 5 150 66 5
4

= − − + −
 

( )4

1 1 15 6 5
4

x = − −
 

( )4

1 3 5 2 5
4

y = − − −  

1 3,
2 2

 
−  

   
25 
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Continued 

 

( )5

1 5 5 6 5 5
8

x  = − − + 
   

( ) ( )5

1 3 3 5 2 5 5
8

y  = − + + + 
   

( )4

1 1 15 6 5
4

x = − +
 

( )4

1 3 5 2 5
4

y = − − +
 

1 3,
2 2

 
−  

   
26 

 

( )5

1 5 5 6 5 5
8

x  = − + + 
   

5

1 13 5 5 150 66 5
4

y = − + + +
 

( )4

1 1 15 6 5
4

x = + +
 

( )4

1 3 5 2 5
4

y = − + +
 

1 3,
2 2

 
−  

   
27 

 

( )0.7713,0.6732  ( )1.3285, 0.7566−  
1 3,
2 2

 
−  

   
28 

 

10.4331,
4

 − 
   

( )0.8447, 0.4947−  
1 3,
2 2

 
−  

   
29 

 

( )0.2476,0.9689  ( )1.6040,0.9261−  
1 3,
2 2

 
−  

   
30 
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( )1 2 33 2 3 ,
2 2

 + − +
 
   

1 3, 1
2 2

 
− −  

   

1 3,
2 2

 
−  

   
31 

 

( )1 13 2 3 , 2 3
2 2

 + − + 
   

1 3, 1
2 2

 
− −  

   

1 3,
2 2

 
−  

   
32 

 

( )5

1 1 3 2 12 7 3
4

x  = − − + 
   

( )4
5

1 1 3 12
4

y = − + −
 

1 3, 1
2 2

 
− −  

   

1 3,
2 2

 
−  

   
33 

 

( )5

1 1 3 2 12 7 3
4

x  = − + + 
   

( )4
5

1 1 3 12
4

y = − + +
 

1 3, 1
2 2

 
− −  

   

1 3,
2 2

 
−  

   
34 

 

( )1 2 34 3 2 6 ,
4 2

 − − + −
 
   

1 3, 1
2 2

 
− +  

   

1 3,
2 2

 
−  

   
35 
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( )1 2 32 3 2 3 ,
2 2

 −  + −      

1 3, 1
2 2

 
− +  

   

1 3,
2 2

 
−  

   
36 

 

( ) ( )1 11 3 , 1 3
2 2

 − − − 
   

1 3, 1
2 2

 
− −  

   

1 3,
2 2

 
−  

   
37 

 

( ) ( )1 11 3 , 1 3
2 2

 − + − − 
   

1 3, 1
2 2

 
− +  

   

1 3,
2 2

 
−  

   
38 

 

( ) ( )1 11 3 , 1 3
2 2

 − − 
   

( ) ( )1 11 3 , 1 3
2 2

 − + − 
   

1 3,
2 2

 
−  

   
39 

 

( ) ( )1 11 3 , 1 3
2 2

 − − − − 
   

( ) ( )1 11 3 , 1 3
2 2

 + − − 
   

1 3,
2 2

 
−  

   
40 
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9 3,
14 14
 

−  
   

5 3,
14 14
 
  
   

1 3,
2 2

 
−  

   
41 

 

1 1 7 1,
2 126 6

 
+ +  

   

1 1,
2 2 3

 
− 

   

1 3,
2 2

 
−  

   
42 

 

( )1 1 1, 3 2 3
2 66

 
− − + 

   

1 1,
2 2 3

 
− 

   

1 3,
2 2

 
−  

   
43 

 

( )1.6514, 0.7587−  
1 , 0.4293
2

 − 
   

, 1.08821
2

 − 
   

44 

 

( )0.1867, 0.5818−  ( )0.6867, 0.5246−  , 0.05721
2

 − 
   

45 
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( )0.0966,0.4258  ( )0.5966, 0.1743−  
1 ,0.6031
2

 
 
   

46 

 

( ) ( )1 13 7 , 3 7
2 2

 − − + 
   

( )1 1, 4 7
2 2

 − + 
   

( )1 1, 2 7
2 2

 − + 
   

47 

 

( ) ( )1 13 7 , 3 7
2 2

 + − − 
   

1 7, 2
2 2

 
− −  

   

1 7, 1
2 2
− −

 
48 

 

( )11.9304, 1 3
2

 − 
   

( )0.6617, 1.0486− −  
1 3 3,
2 2

 − −
  
   

49 

 

( ) ( )1 1 131 13 , 1 13
4 2 6

 
+ − − +  

   

1 7 13,
2 12 6

 
 − +
 
   

1 5 13,
2 12 6

 
 − − +
 
   

50 
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( )10.9304, 1 3
2

 − − 
   

1 , 2.6333
2

 − 
   

1 ,1.9002
2

 
 
   

51 

 

( )0.1271,0.9919−  
1 ,1.4157
2

 
 
   

1 ,0.5681
2

 
 
   

52 

 

( )0.8586,0.5126  
1 ,0.5998
2

 
 
   

1 , 0.1811
2

 − 
   

53 

 

( )0.1665, 0.9860− −  
1 , 1.4433
2

 − 
   

1 , 0.6350
2

 − 
   

54 

 

( ) ( )1 1 15 13 , 1 13
4 2 2

 
− − +  

   

4

132
2

x = −
 

4

1 7 2 13
2

y = − − +
 

1 1, 7 2 13
2 2

 − + 
   

55 
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( ) ( )1 1 31 13 , 1 13
4 2 2

 
+ − − +  

   

1 1, 7 2 13
2 2

 − − − + 
   

1 1, 5 2 13
2 2

 − + 
   

56 

 

( )0.0108, 0.1469−  ( )0.2064, 0.6095−  
1 , 0.0369
2

 − 
   

57 

 

( )0.0931, 0.4212−  ( )0.4724, 0.8495−  
1 , 0.2781
2

 − 
   

58 

 

( )1.9506,0.3103  ( )1.6187, 0.7856−  
1 , 1.0302
2

 − 
   

59 

 

( )1.7771, 0.6294−  ( )0.2809, 0.6949−  
1 , 1.4117
2

 − 
   

60 

 

( )1.1991,0.3155  ( )10.9304, 1 3
2

 − − 
   

1 ,0.5361
2

 
 
   

61 
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( )2.0948, 0.7399−  ( )0.1271, 0.9919−  
1 , 1.9198
2

 − 
   

62 

 

( )0.1259, 1.4857−  ( )0.4857, 0.8741− −  
1 , 0.7058
2

 − 
   

63 

 

( )0.7423, 0.6700−  ( )0.3300, 0.2577−  
1 ,0.3002
2

 
 
   

64 

 

( ) ( )1 11 7 , 1 7
4 4

 + − 
   

( )4

1 5 7
4

x = −
 

( )4

1 1 7
4

y = − −
 

1 7,1
2 2

 
−  

   
65 

 

( ) ( )1 11 7 , 1 7
4 4

 + − 
   

( )4

1 1 7
4

x = −
 

( )4

1 1 7
4

y = − −
 

1 7, 1
2 2

 
− −  

   
66 
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( )1.4304, 0.9026−  
1 , 1.2692
2

 − 
   

1 ,0.0949
2

 
 
   

67 

 

( )0.6271, 0.9279−  
1 , 0.44
2

 − 
   

1 ,0.0640
2

 
 
   

68 

 

( ) ( )1 1 37 13 , 1 13
4 2 2

 
− − − +  

   

( )4

1 5 13
4

x = −
 

( )4

1 1 1 13
2 2

y = − +
 

 

1 1, 7 2 13
2 2

 − − + 
 

 69 

 

( )0.8187, 0.5742−  ( )0.3187, 0.7320−  
1 , 0.1579
2

 − 
   

70 

 

( )1.7313, 0.6821−  ( )1.7313,0.6821  
1 ,1.2692
2

 
 
   

71 

 

( )0.0323, 0.2520−  ( )0.0323,0.2520  
1 , 0.0640
2

 − 
   

72 
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( )1.9430,0.3328  ( )0.9430, 0.3328− −  
1 , 2.9193
2

 − 
   

73 

 

1 7,
4 4

 
−  

   
( )1 12 7 ,

4 4
 − 
   

1 1,
2 2

 − 
   

74 

 

( )1.1271,0.9919  
3 ,0.0640
2

 
 
   

1 ,0.0640
2

 
 
   

75 

 

( )1.4322. 0.9053−  
1 , 1.2689
2

 − − 
   

( )0.5016, 1.2713−  76 

 

( )1 12 3 ,
2 2

 − 
   

( ) ( )1 11 3 , 1 3
2 2

 − − 
   

3 1,
2 2

 
−  

   
77 

 

3 12,
2 2

 
+  

   

3 12,
2 2

 
+ −  

   

3 11,
2 2

 
+ −  

   
78 
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3 7,
4 4

 
−  

   

7 11 ,
4 4

 
+ −  

   

7 1,
4 4

 
−  

   
79 

 

( ) ( )1 13 7 , 1 7
4 4

 + − − 
   

7 11 ,
4 4

 
+ −  

   

7 1,
4 4

 
−  

   
80 

 

( ) ( )1 11 7 , 3 7
4 4

 + − + 
   

( ) ( )1 13 7 , 1 7
4 4

 + − + 
   

1 1,
2 2

 − 
   

81 

 

3 7,
4 4

 
− −  
   

( ) ( )1 13 7 , 1 7
4 4

 + − + 
   

3 7,
4 4

 
−  

   
82 

 

( ) ( )1 1 13 13 , 1 13
4 2 2

 
+ − +  

   

3 1, 7 2 13
2 2

 − + 
   

1 1, 7 2 13
2 2

 − + 
   

83 

 

( )0.5458,0.0696−  ( )0.3028, 0.4595−  ( )0.1514,0.5290  84 
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( )1.2423, 0.9702−  
1 , 0.6402
2

 − 
   

1 , 1.6402
2

 − 
   

85 

 

1 ,0.0424
2

 
 
   

( )0.9857,0.1683  
1 ,1.0424
2

 
 
   

86 

 

( )0.8216,0.0572−  ( )0.6608, 0.7505− −  ( )0.3392, 0.7505−  87 

 

( )0.0887,0.9026−  ( )0.5887, 0.8083− −  ( )0.4113, 0.8083−  88 

 

( ) ( )1 1 19 73 , 5 73
4 2 2

 
− − +  

   

( )4

1 7 73
4

x = −
 

4

53 7 73
8 8

y = − − +
 

( )1 53 7 7311 73 ,
4 8 8

 
 − − − +
 
   

89 

 
Seven patterns obtained by pattern (*) are presented: 

1) In the three first patterns the value of angle 𝑎𝑎 can be selected as a free variable. Since the first 5 points are 
the same as pattern (*), only the coordinates of the new point 6P  are discussed here. The index of column j 
presents the 5 point pattern of the previous stage that the solution of the 6 point case is obtained by adding a 
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single point to it (Table 4). 
2) The next four results are related to two specific angles a discussed in the following Table 5. 

The 40 remaining solutions are presented in the following Table 6. The index of column j presents the 5 point 
pattern of the previous stage that the solution of the 6 point case is obtained by adding a single point to it: 

The six cases that are not directly obtained by 5 point cases but they are obtained by adding two new points to 
four point patterns are presented in Table 7. 

Pattern 48 in the above table, was presented by I. Palasti in 1989 [4]. 

2.4. 7 Point Patterns 
In 7-point case, in addition to the 4 point sequences of one degree of freedom, the 4 point sequences of two de-
grees of freedom will be required i.e. the sequences {1,1,1,3} and {1,1,2,2}. Obviously it is always possible to 
remove the vertices connected to the edges with the weight of 1, 2 and 2 that accordingly a maximum of 3 ver-
tices will be removed and there will be 4, 5 and 6 point pattern with a maximum of 4 distinct lengths. Of course, 
in 5 and 6 point cases it is possible to remove two other vertices so that the maximum remaining lengths are 4 
distinct lengths. Therefore it is just needed to analyze 4 point case with a maximum of 4 distinct lengths.  

 
Table 4. 6 point solutions obtained from pattern (*) with one degree of freedom.                                                 

 ( )6 6 6,P x y=  j n 

 

( )1 5 3 1 5 3,x x x y y y− + − +  

12 13 23 34 26d d d d d= = = =  

14 15 45 36d d d d= = =  

16 35 24d d d= =  

25 46d d=  

56d  

1 1 

 

( )4 2 3 4 2 3,x x x y y y− + − +  
12 13 23 34 46d d d d d= = = =  

24 35 56 36d d d d= = =  

14 15 45d d d= =  

25 16d d=  

26d  

1 2 

 

( )4 1 3 4 1 3,x x x y y y− + − +  

12 13 23 34 46d d d d d= = = =  

14 15 45 36d d d d= = =  

26 25 56d d d= =  

35 24d d=  

16d  

1 3 
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Table 5. 6 point solutions obtained from pattern (*) with fix coordinates.                                                                                                 

 ( )4 5 6, ,P P P  a n 

 

4

1 1 1,
6 2 3

P  
= − 
 

 

5

1 2 1,
2 3 2 3

P
 

= − + −  
 

 

( )6

1 1 1, 3 2 3
2 66

P  
= − + − + 
 

 

14 15 16 45 46d d d d d= = = =  

12 13 23 34d d d d= = =  

25 36 46d d d= =  

24 35d d=  

26d  

1

17.63

1si
22

n
3

2

−  
 
  =  

( ) 1s n 1
6

i
2

a = −  

4 

 

4

1 1 1,
6 2 3

P  
= − 
 

 

5

1 2 1,
2 3 2 3

P
 

= − + −  
 

 

( ) ( )6

1 11 6 , 2 3
2 2

P  = − + − 
 

 

14 15 16 45 46d d d d d= = = =  

12 13 23 34d d d d= = =  

25 36 16d d d= =  

24 35d d=  

26d  

1

17.63

1si
22

n
3

2

−  
 
  =  

( ) 1s n 1
6

i
2

a = −  

5 

 

4

1 5 21 ,
6 36

P
 
 = + − +
 
 

 

5

3 2 1,
2 3 2 3

P
 

= + −  
 

 

( )6

1 13 6 , 5 2 6
2 2

P  = + − + 
 

 

24 25 45 46 56d d d d d= = = =  

12 13 23 34d d d d= = =  

15 26 36d d d= =  

14 35d d=  

16d  

  42.37a= −  

( ) 1s 21
2 3

in a −= +  
6 
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4

1 5 21 ,
6 36

P
 
 = + − +
 
 

 

5

3 2 1,
2 3 2 3

P
 

= + −  
 

 

6

3 1 7 1,
2 126 6

P
 

= + +  
 

 

24 25 26 45 56d d d d d= = = =  

12 13 23 34d d d d= = =  

15 36 46d d d= =  

14 35d d=  

16d  

  42.37a= −  

( ) 1s 21
2 3

in a −= +  
7 

 
Then using method 1 and also 4, 5 and 6 point patterns, it is possible to search for 7 point patterns. 13 solu-

tions are obtained in this way 9 of which are obtained by adding a new point to the 6 point patterns and two so-
lutions are obtained by adding two new points to the 5 point pattern (*) and two of them are obtained by adding 
three points to 4 point patterns. Among all solutions only the first solution has the free variable a and in the rest 
of solutions all points are fixed and non parametric. The coordinates of the points 6P  and 7P  in this solution 
are as follows: 

( )6 1 5 3 1 5 3,P x x x y y y= − + − +  

( ) ( )( )7 sin 2 30 , 3 cos 2 30P a a= − − − + −  

And also we have: 

12 13 23 26 34 47d d d d d d= = = = =  

16 24 35 37 57d d d d d= = = =  

14 15 36 45d d d d= = =  

17 25 46d d d= =  

56 67d d=  

27d  

The above solution is obtained by the reunion of patterns 1 and 2 in Table 4 both of which were obtained by a 
five point pattern (*) (Figure 4). 

The remaining 8 solutions extracted from 6 point patterns are presented in the following Table 8 in which 
column j presents the number of the pattern or the related 6 point productive patterns: 

Pattern 9 in the above table, was presented by Andy Liu in 1987 [5] but all of the other patterns are new. The 
other two solutions obtained by 5 point solution (*) are as follows (Table 9): 

And at the end of this section two solutions of 4 point pattern obtained by adding three new points are as fol-
lows Table 10. 

Pattern 13 in the above table, was presented by I. Palasti in 1989 [3]. 

2.5. 8 Point Patterns 
In the eight point case we have to show that it is always possible to obtain a 4 point pattern by removing 4 ver-
tices with maximum 4 distinct lengths that can be one of the length sequences of {1,2,3}, {2,2,2}, {1,1,4}, 
{1,1,1,3} or {1,1,2,2}. We know that there are 6 edges with the weights of 1 - 3. Thus there is a graph with 6 
edges and 8 vertices. Therefore at least one of the vertices is connected to two edges, by removing this edge, we  
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Table 6. 6 point solutions obtained from 5 point solutions.                                                                                                 

 6P  j n 

 

( )6

1 1 5 30 6 5
8

x = + + −  

( )6

1 7 5 6 5 5
4

y = − + − +  

12 13 16 23 35d d d d d= = = =  

14 24 25 36d d d d= = =  

15 26 46d d d= =  

34 45d d=  

16d  

3 8 

 

( )6

1 1 5 30 6 5
8

x = + − −  

( )6

1 7 5 6 5 5
4

y = − + + +  

12 13 16 23 35d d d d d= = = =  

14 24 25 36d d d d= = =  

15 26 46d d d= =  

34 45d d=  

16d  

4 9 

 

( )6

1 1 5 6 5 5
8

x  = − + + 
 

 

( ) ( )6

1 3 1 5 2 5 5
8

y  = − + + + 
 

 

12 13 16 23 35d d d d d= = = =  

14 24 25 36d d d d= = =  

15 26 46d d d= =  

34 45d d=  

16d  

5 10 

 

( )6

1 1 5 6 5 5
8

x  = − − + 
 

 

( ) ( )6

1 3 1 5 2 5 5
8

y  = − + − + 
 

 

12 13 16 23 35d d d d d= = = =  

14 24 25 36d d d d= = =  

15 26 46d d d= =  

34 45d d=  

16d  

6 11 
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( )6

1 3 5
4

x = −  

( )6

1 1 5 5
2 2

y = − −  

12 13 23 26 34d d d d d= = = =  

15 16 24 35d d d d= = =  

14 36 45d d d= =  

25 56d d=  

46d  

24 12 

 

( )6

1 3 5
4

x = −  

( )6

1 1 5 5
2 2

y = −  

12 13 23 26 34d d d d d= = = =  

15 16 24 35d d d d= = =  

14 36 45d d d= =  

25 56d d=  

46d  

25 13 

 

( )6

1 3 5
4

x = +  

( )6

1 1 5 5
2 2

y = − +  

12 13 23 26 34d d d d d= = = =  

15 16 24 35d d d d= = =  

14 36 45d d d= =  

25 56d d=  

46d  

26 14 

 

( )6

1 3 5
4

x = +  

( )6

1 1 5 5
2 2

y = +  

12 13 23 26 34d d d d d= = = =  

15 16 24 35d d d d= = =  

14 36 45d d d= =  

25 56d d=  

46d  

27 15 
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6

3
2

x =  

6

1
2

y =  

12 13 23 34 46d d d d d= = = =  

14 24 26 35d d d d= = =  

16 25 45d d d= =  

15 36d d=  

56d  

37 16 

 

6

3
2

x =  

6

31
2

y = − −  

12 13 23 34 46d d d d d= = = =  

14 24 26 35d d d d= = =  

16 25 45d d d= =  

15 36d d=  

56d  

37 17 

 

6

3
2

x = −  

6

1
2

y = −  

12 13 23 34 46d d d d d= = = =  

14 24 26 35d d d d= = =  

16 25 45d d d= =  

15 36d d=  

56d  

38 18 

 

6

3
2

x =  

6

31
2

y = −  

12 13 23 34 46d d d d d= = = =  

14 24 26 35d d d d= = =  

16 25 45d d d= =  

15 36d d=  

56d  

38 19 

 

6

6
7

x =  

6

3 3
7

y = −  

12 13 23 34 46d d d d d= = = =  

14 25 36 45d d d d= = =  

15 24 56d d d= =  

26 35d d=  

16d  

41 20 
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6

2
3

x = −  

6

1
3

y = −  

12 13 16 23 25d d d d d= = = =  

15 36 45 46d d d d= = =  

14 24 34d d d= =  

26 35d d=  

56d  

42 21 

 

6

2
3

x =  

6

1
3

y = −  

12 13 16 23 25d d d d d= = = =  

15 36 45 46d d d d= = =  

14 24 34d d d= =  

26 35d d=  

56d  

43 22 

 

( )1.1867, 0.5818−  

13 23 34 45 46d d d d d= = = =  

15 24 26 35d d d d= = =  

12 25 56d d d= =  

14 36d d=  

16d  

45 23 

 

( )1.0966,0.4287  

13 23 34 45 46d d d d d= = = =  

15 24 26 35d d d d= = =  

12 25 56d d d= =  

14 36d d=  

16d  

46 24 

 

( )0, 1−  

13 23 35 45 46d d d d d= = = =  

14 24 25 56d d d d= = =  

12 16 34d d d= =  

26 36d d=  

15d  

47 25 
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( ) ( )1 11 7 , 3 7
2 2

 − + − + 
 

 

14 24 25 36 46d d d d d= = = =  

13 23 35 45d d d d= = =  

12 34 56d d d= =  

15 26d d=  

16d  

47 26 

 

( ) ( )1 15 7 , 3 7
2 2

 + − − 
 

 

14 24 25 36 46d d d d d= = = =  

13 23 35 45d d d d= = =  

12 34 56d d d= =  

15 26d d=  

16d  

48 27 

 

( )0, 1−  

13 23 35 45 46d d d d d= = = =  

14 24 25 56d d d d= = =  

12 16 34d d d= =  

26 36d d=  

15d  

48 28 

 

1 7 13,
2 12 6

 
 − − +
 
 

 

14 16 24 25 36d d d d d= = = =  

13 23 34 45d d d d= = =  

12 35 46d d d= =  

15 56d d=  

26d  

50 29 

 

( )1 25 7 131 13 ,
4 24 24

 
 − + − − +
 
 

 

13 16 23 34 45d d d d d= = = =  

14 24 25 56d d d d= = =  

12 35 46d d d= =  

26 36d d=  

15d  

50 30 



A. Jafari, A. N. Amin 
 

 
140 

Continued 

 

13 13 , 7 2 13
2 2

 
− − − +  

 
 

12 24 34 46 56d d d d d= = = =  

13 23 35 45d d d d= = =  

14 25 36d d d= =  

15 26d d=  

16d  

55 31 

 

( ) ( )1 1 13 13 , 1 13
4 2 2

 
+ − +  

 
 

13 16 23 35 45d d d d d= = = =  

12 24 26 34d d d d= = =  

14 25 36d d d= =  

15 46d d=  

56d  

56 32 

 

( )0.7313, 0.6821−  

13 23 26 35 45d d d d d= = = =  

12 14 16 34d d d d= = =  

24 25 46d d d= =  

15 36d d=  

56d  

61 33 

 

( )0.9677, 0.2520− −  

13 23 26 35 45d d d d d= = = =  

12 14 16 34d d d d= = =  

24 25 46d d d= =  

15 36d d=  

56d  

62 34 

 

( )0.6116,0.6116−  

13 16 23 35 45d d d d d= = = =  

24 25 26 36d d d d= = =  

12 14 34d d d= =  

15 46d d=  

56d  

63 35 
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( )1.1259, 1.4857−  

12 14 34 36 56d d d d d= = = =  

13 23 35 45d d d d= = =  

24 25 46d d d= =  

15 26d d=  

16d  

63 36 

 

( )0.4124, 0.4124−  

13 16 23 34 45d d d d d= = = =  

24 25 26 36d d d d= = =  

12 15 35d d d= =  

14 56d d=  

46d  

64 37 

 

( )1.33, 0.2577−  

12 15 35 36 46d d d d d= = = =  

13 23 34 45d d d d= = =  

24 25 56d d d= =  

14 26d d=  

16d  

64 38 

 

1 7,
2 2

 
−  

 
 

12 15 24 36 56d d d d d= = = =  

13 23 34 45d d d d= = =  

25 35 46d d d= =  

16 26d d=  

14d  

65 39 

 

1 7,
2 2

 
−  

 
 

12 14 25 36 46d d d d d= = = =  

13 23 35 45d d d d= = =  

24 34 56d d d= =  

16 26d d=  

15d  

66 40 
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3 ,0.0949
2

 
 
 

 

12 25 36 45 56d d d d d= = = =  

14 24 34 35d d d d= = =  

13 23 26d d d= =  

15 46d d=  

16d  

67 41 

 

3 , 0.44
2

 − 
 

 

12 25 35 46 56d d d d d= = = =  

13 23 34 45d d d d= = =  

14 24 26d d d= =  

15 36d d=  

16d  

68 42 

 

( )1 12 7 ,
4 4

 + − 
 

 

12 25 34 45 56d d d d d= = = =  

13 15 23 36d d d d= = =  

14 26 35d d d= =  

16 24d d=  

46d  

74 43 

 

7 11 ,
4 4

 
− −  

 
 

13 15 23 26 46d d d d d= = = =  

12 25 34 45d d d d= = =  

14 35 36d d d= =  

16 56d d=  

24d  

74 44 

 

( )1.1608, 0.8078−  

13 15 26 36 45d d d d d= = = =  

12 14 23 34d d d d= = =  

24 25 46d d d= =  

16 35d d=  

56d  

87 45 

 

1 , 1.7110
2

 − 
 

 

16 24 26 35 45d d d d d= = = =  

12 14 23 34d d d d= = =  

13 15 36d d d= =  

25 46d d=  

56d  

88 46 
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1 1, 7 2 73
2 2

 − − + 
 

 

16 24 26 35 45d d d d d= = = =  

12 14 23 34d d d d= = =  

13 25 46d d d= =  

15 36d d=  

56d  

89 47 

 
will obtain a graph with 7 vertices and 4 edges. Thus in this case there is at least one vertex that is connected to 
two edges. By removing this vertex two other edges will be removed. Then two edges are remained that it is 
possible to remove these two edges by removing two other vertices. So we will get a graph with 4 vertices that 
had a maximum of four distinct lengths. The problem in 8 point case has two other solutions other than the solu-
tion discussed at the beginning both of which are directly obtained by the pattern 1 in 7-point case by adding a 
new point that all three solutions are presented in Table 11. The first solution belongs to I. Palasti in [3].  

Closely related to the length sequence {1,2,3,4,5,6,7} there are 5 other examples with one degree of freedom. 
The sequence of distinct lengths of two initial solutions is {1,1,2,2,4,5,6,7} and these two solutions are pre-
sented in Table 12. The sequence of distinct lengths of the next three solutions is {1,1,1,3,4,5,6,7} which are 
presented in Table 13. 

2.6. 9 Point Patterns 
Using the discussed method no pattern was obtained for 9 point case, however this does not guarantee that there 
will be no solution for 9 point case. Here some solutions are presented that are very close to the intended solu-
tion and in fact they were the solutions that only needed one additional condition to be a candidate for the main 
solution. The initially expressed solutions have one free variable. The following solution is the only one that is 
not obtained by 5 point (*) pattern. This pattern still has the free variable a and its distinct length sequence in-
cludes {1,2,2,3,4,5,6,6,7}. Although there is a free variable and only one other equation is required that can be 
any of the following equations that are related to the equations with the repetitions of 2 and 6: { }78 38d d= ;
{ }78 17d d= ; { }68 38d d= ; { }68 17d d= . But the answers of none of the single unknown equations will lead to 
the final solution. The problem is that although they can be solved due to their high degree of freedom, the final 
solution does not apply in general position condition or applying these conditions make the other lengths to be 
equal (Table 14). 

The following cases that are obtained by five point pattern (*) they still have the free variable a. The sequence 
of distinct lengths of the first two solutions is {1,2,3,3,3,4,5,7,8} and in case of the other two solutions this se-
quence includes {1,1,2,2,4,5,6,7,8} (Table 15). 

All solutions that are presented below have fixed points and they have no free variable. First the solutions 
with independent lengths of {1,1,2,2,4,5,6,7,8} (Table 16). 

And solution of sequence {1,1,2,3,3,5,6,7,8} (Table 17). 
And the last solution close to the original answer to the problem by distinct lengths {1,1,1,3,4,5,6,7,8} is as 

follows (Table 18). 

2.7. Conclusion for 2D Case 
Based on the results presented in the previous sections it can be observed that in 2D case the number of n point 
solutions for the value of n between 1 and 8, it is based on Fibonacci sequence [6]. The Fibonacci sequence is as 
follows: 1, 1, 2, 3, 5, 8, 13, 21, 34, 55, 89, 144, 233, … 

On the other hand (Table 19). 
Therefore, the solutions can be presented in the following chart where the horizontal axis represents the num-

ber of points, and the vertical axis presents the Fibonacci number index corresponding to the number of points 
(Figure 5). 



A. Jafari, A. N. Amin 
 

 
144 

Table 7. 6 point solutions obtained from 4 point solutions.                                                                                                 

 ( )3 4 5 6, , ,P P P P  n 

 

3

1 5,
2 2 3

P  = − 
 

 

4

1 1,
2 2 3

P  = − 
 

 

5

20,
3

P  = − 
 

 

6

1 5,
2 2 3

P  = − − 
 

 

13 16 23 25 46d d d d d= = = =  

14 24 35 56d d d d= = =  

13 23 16d d d= =  

15 34d d=  

26d  

48 

 

( )3

1 125 13 979 97 ,
4 8 8

P
 
 = − + − +
 
 

 

( )4

1 125 13 9713 97 ,
4 8 8

P
 
 = − + − +
 
 

 

5

1 1, 19 2 97
2 2

P  = − + 
 

 

( )6

1 1 311 97 , ( 7 97)
4 2 2

P
 

= − + − +  
 

 

15 13 25 36 46d d d d d= = = =  

12 14 23 34d d d d= = =  

26 45 56d d d= =  

16 35d d=  

24d  

49 

 

( )3

1 53 7 7311 73 ,
4 8 8

P
 
 = − − − +
 
 

 

( )4

1 53 7 737 73 ,
4 8 8

P
 
 = − − − +
 
 

 

5

1 3,
2 2 17 2 73

P
 
 = − + 

 

( )6

1 1 19 73 , ( 5 73)
4 2 2

P
 

= − − − +  
 

 

15 25 36 46 56d d d d d= = = =  

12 14 23 34d d d d= = =  

13 26 45d d d= =  

16 35d d=  

24d  

50 
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( )3

1 19 33 ,
6 3

P  = − − 
 

 

( ) ( )4

1 1 19 33 , 29 5 33
12 2 6

P
 

= − −  
 

 

( ) ( )5

1 1 13 33 , 41 7 33
12 2 6

P
 

= − + − −  
 

 

( )6

1 1, 2 3 11
2 2

P  = − + 
 

 

14 15 45 46 56d d d d d= = = =  

16 26 35 36d d d d= = =  

23 24 34d d d= =  

13 25d d= ; 12d  

51 

 

3

1 11, 3
2 2

P
 

= +  
 

 

( ) ( )4

1 1 13 33 , 29 5 33
12 2 6

P
 

= − +  
 

 

( )5

1 13 33 ,
6 3

P  = − − 
 

 

( ) ( )6

1 1 115 33 , 41 7 33
12 2 6

P
 

= + +  
 

 

24 26 34 36 46d d d d d= = = =  

13 23 35 56d d d d= = =  

14 15 45d d d= =  

16 25d d=  

12d  

52 

 

3

1 3,
2 2

P
 

= −  
 

 

4

3 1,
2 2

P
 

= −  
 

 

5

1 3,
2 2

P
 

=   
 

 

6

3 11 ,
2 2

P
 

= + −  
 

 

12 13 14 24 34d d d d d= = = =  

16 25 35 46d d d d= = =  

34 36 45d d d= =  

15 26d d=  

56d  

53 
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3

1 3,
2 2

P
 

= −  
 

 

4

3 1,
2 2

P
 

=   
 

 

5

1 3,
2 2

P
 

=   
 

 

6

3 11 ,
2 2

P
 

= − −  
 

 

12 13 14 23 24d d d d d= = = =  

16 25 36 45d d d d= = =  

34 35 46d d d= =  

15 26d d=  

56d  

54 

 
Table 8. 7 point solutions obtained from 6 point solutions.                                                                                                 

 ( )4 5 6 7, , ,P P P P  j a n 

 

4

1 1 1,
6 2 3

P  = − 
 

 

5

1 2 1,
2 3 2 3

P
 

= − + −  
 

 

6

2 2,
3 3

P
 

= −  
 

 

( )7

1 1 1, 3 2 3
2 66

P  = − + − + 
 

 

14 15 17 36 45 57d d d d d d= = = = =  

12 13 23 26 34d d d d d= = = =  

25 37 46 47d d d d= = =  

16 24 35d d d= =  

56 67d d=  

27d  

1 
& 
4 

1

17.63

1si
22

n
3

2

−  
 
  =  

( ) 1s n 1
6

i
2

a = −  

2 

 

4

1 1 1,
6 2 3

P  = − 
 

 

5

1 2 1,
2 3 2 3

P
 

= − + −  
 

 

6

2 2,
3 3

P
 

= −  
 

 

( )7

1 11 6 , ( 2 3
2 2

P  = − + − 
 

 

14 15 36 45 47 57d d d d d d= = = = =  

12 13 23 26 34d d d d d= = = =  

17 25 37 46d d d d= = =  

16 24 35d d d= =  

27 56d d=  

67d  

1 
& 
5 

1

17.63

1si
22

n
3

2

−  
 
  =  

( ) 1s n 1
6

i
2

a = −  

3 
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Continued 

 

4

1 5 21 ,
6 36

P
 
 = + − +
 
 

 

5

3 2 1,
2 3 2 3

P
 

= + −  
 

 

6

2 1,
3 3

P
 

= − −  
 

 

( )7

1 13 6 , 5 2 6
2 2

P  = + − + 
 

 

24 25 36 45 47 57d d d d d d= = = = =  

12 13 16 23 34d d d d d= = = =  

15 27 37 46d d d d= = =  

14 26 35d d d= =  

17 56d d=  

67d  

1 
& 
6 

  42.37a= −  

( ) 1s 21
2 3

in a −= +  
4 

 

4

1 5 21 ,
6 36

P
 
 = + − +
 
 

 

5

3 2 1,
2 3 2 3

P
 

= + −  
 

 

6

2 1,
3 3

P
 

= − −  
 

 

7

3 1 7 1,
2 126 6

P
 

= + +  
 

 

24 25 27 36 45 57d d d d d d= = = = =  

12 13 16 23 34d d d d d= = = =  

15 37 46 47d d d d= = =  

14 26 35d d d= =  

56 67d d=  

17d  

1 
& 
7 

  42.37a= −  

( ) 1s 21
2 3

in a −= +  
5 

 

4

6 3,
13 13

P
 

=   
 

 

5

9 5 3,
26 26

P
 

= −  
 

 

6

2 4 3,
13 13

P
 

= −  
 

 

7

21 3 3,
26 26

P
 

= −  
 

 

14 15 36 45 47 57d d d d d d= = = = =  

12 13 23 26 34d d d d d= = = =  

25 37 46 67d d d d= = =  

16 24 35d d d= =  

27 56d d=  

17d  

1 1 1sin
13

16.1021−   = 
 

 6 
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Continued 

 

4

1 1 1,
6 2 3

P  = − 
 

 

5

1 2 1,
2 3 2 3

P
 

= − + −  
 

 

6

1 1 11 ,
6 2 3

P  = − − + 
 

 

( )7

1 1 1, 3 2 3
2 66

P  = − + − + 
 

 

14 15 17 26 45 57d d d d d d= = = = =  

25 36 37 47 67d d d d d= = = =  

12 13 23 34d d d d= = =  

16 24 35d d d= =  

46 56d d=  

27d  

4 

1

17.63

1si
22

n
3

2

−  
 
  =  

( ) 1s n 1
6

i
2

a = −  

7 

 

4

1 5 21 ,
6 36

P
 
 = + − +
 
 

 

5

3 2 1,
2 3 2 3

P
 

= + −  
 

 

6

1 1 1,
6 2 3

P  = − + 
 

 

7

3 1 7 1,
2 126 6

P
 

= + +  
 

 

16 24 25 27 45 57d d d d d d= = = = =  

15 36 37 47 67d d d d d= = = =  

12 13 23 34d d d d= = =  

14 26 35d d d= =  

46 56d d=  

17d  

7 

  42.37a= −  

( ) 1s 21
2 3

in a −= +  
8 

 

4

9 3,
14 14

P
 

=   
 

 

5

3 2 3,
7 7

P
 

= −  
 

 

6

16 3 3,
14 7

P
 

= −  
 

 

7

3 5 3,
14 14

P
 

= − −  
 

 

14 15 17 36 45 57d d d d d d= = = = =  

12 13 23 34 46d d d d d= = = =  

25 26 37 56d d d d= = =  

16 27 67d d d= =  

24 35d d=  

47d  

3 1 1sin
2 7

10.8934−   = 
 

 9 
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Table 9. 7 point solutions obtained from 5 point solutions.                                                                                                 

 ( )4 5 6 7, , ,P P P P  a n 

 

( )4

1 1 33, 2 7 33
12

P  = + − 
 

 

( )5

1 1 33, 2 7 33
12

P  = − + − + 
 

 

( )6

1 7 33, 2 79 7 33
12

P  = + − − 
 

 

7

1 11,
6 6

P
 

= − −  
 

 

14 15 17 26 45 57d d d d d d= = = = =  

12 13 23 34 47d d d d d= = = =  

25 36 37 67d d d d= = =  

16 24 35d d d= =  

46 56d d=  

27d  

13.2213a =  

( ) ( )1 5 3 11
1

s n
2

i 2a = −  10 

 

( )4

1 1 33, 2 7 33
12

P  = − − + 
 

 

( )5

1 1 33, 3 11
12

P = − − − +  

6

1 11,
6 6

P
 

= −  
 

 

( )7

1 11 33, 3 11
12

P = + +  

14 15 16 27 45 56d d d d d d= = = = =  

12 13 23 34 46d d d d d= = = =  

25 36 37 67d d d d= = =  

17 24 35d d d= =  

47 57d d=  

26d  

−133.2262 

( ) ( )1 3 33
1

si
2

n a = − −  11 

 
Table 10. 7 point solutions obtained from 4 point solutions.                                                                                                 

 ( )3 4 5 6 7, , , ,P P P P P  n 

 

3

1 3,
2 2

P
 

= −  
 

 

( )4

1 1 6, 2 3
6

P = + − +  

5

2 1 1 7, 6
3 3 26

P
 

= + − +  
 

 

7

1 1 1, 5 2 6
6 66

P  = − − + 
 

 

14 15 17 36 45 57d d d d d d= = = = =  

12 13 23 46 47d d d d d= = = =  

25 26 37 56d d d d= = =  

16 27 67d d d= =  

24 35d d=  

34d  

12 
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Continued 

 

3

1 3,
2 2

P
 

= −  
 

 

4

6 3,
13 13

P
 

=   
 

 

5

2 4 3,
13 13

P
 

= −  
 

 

6

23 7 3,
26 26

P
 

= −  
 

 

7

7 3,
26 26

P
 

= −  
 

 

12 13 23 25 26 34d d d d d d= = = = =  

27 46 56 57 67d d d d d= = = =  

14 26 35 57d d d d= = =  

15 24 36d d d= =  

17 47d d=  

37d  

13 

 

 
Figure 4. 7 point solution obtained from pattern (*) with one degree of freedom.               

 

 
Figure 5. Relation between the number of solutions for 1-8 point cases and index of Fibonacci 
numbers.                                                                                  

2 4 6 8
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Table 11. 8 point solutions for length sequence {1,2,3,4,5,6,7}.                                                                                                 

 ( )3 4 5 6 7 8, , , , ,P P P P P P  a n 

 

3

1 3,
2 2

P
 

= −  
 

 

4

6 3,
13 13

P
 

=   
 

 

5

9 5 3,
26 26

P
 

= −  
 

 

6

1 11 3,
26 26

P
 −

= −  
 

 

7

25 11 3,
26 26

P
 

= −  
 

 

8

5 3 3,
13 13

P
 

=   
 

 

12 13 23 34 46 47 67d d d d d d d= = = = = =  

16 25 27 28 57 58d d d d d d= = = = =  

18 24 35 36 56d d d d d= = = =  

14 15 45 37d d d d= = =  

26 38 78d d d= =  

17 68d d=  

48d  

1 1sin
13

16.1021−   = 
 

 1 

 

3

1 3,
2 2

P
 

= −  
 

 

( ) ( )4

1 25 3 57 , 2 131 9 57
28

P  = + + 
 

 

( )5

1 1 57, 17 3 5 19
28

P = − + − −  

( )6

1 15 57,3 3 5 19
28

P = − +  

( )7

1 13 57,3 3 5 19
28

P = − − +  

( )8

1 11 3 57, 5 3 19
28

P = − − − +  

12 13 16 23 24 35 67d d d d d d d= = = = = =  

14 15 36 38 45 68d d d d d d= = = = =  

17 18 26 34 78d d d d d= = = =  

28 37 46 58d d d d= = =  

47 48 57d d d= =  

25 27d d=  

56d  

( )1
1sin

2
22.7155

a−

= −  2 
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Continued 

 

3

1 3,
2 2

P
 

= −  
 

 

( ) ( )4

1 113 57 , 2 3 19
14 7

P  = − − + 
 

 

( )5

1 1 57, 17 3 5 19
28

P = + − +  

( )6

1 13 57,3 3 5 19
28

P = − −  

( )7

1 6 57, 11 3 2 19
14

P = − − +  

( )8

1 6 57, 3 3 2 19
14

P = − + − −  

12 13 18 23 26 34 47d d d d d d d= = = = = =  

14 15 36 38 45 68d d d d d d= = = = =  

16 24 35 37 57d d d d d= = = =  

17 25 46 58d d d d= = =  

56 67 78d d d= =  

27 28d d=  

48d  

( )1
2sin

2
18.1779

a−

=  3 

Note: In the above table we have ( ) ( )1 2

1 19 3 19 & 3 3 5 19 .
28 28

= − − = − +a a  

 
We do not know why Fibonacci number appears in the above table and an explanation of this fact seems to be 

very interesting. 

3. Generalization to Higher Dimensions 
When the number of dimensions increases the dimension of the solutions is increased as well but the seemingly 
independent solutions are united together. For example, in cases where two distinct solutions were obtained from 
the intersection of two circles on the 2D plane, this solution will be the result of the intersection of two spheres 
which is a circle in 3D space. Thus, two distinct points that produce two distinct solutions in two dimensional 
cases give way to the same solution with a higher dimension. 

Therefore, by increasing the number of dimensions, it is just enough to consider the graph pattern cases to find 
the n-point independent solutions, so the limited sequence of number of solutions can be obtained, only by count-
ing the number of graph patterns. 

For example the 4 point state that only has 4 independent cases can be easily analyzed. The 4 point case solu-
tion was presented for a desired number of dimensions greater than 2 in table 1. By increasing the number of di-
mensions, the number of solutions remains 4 but the dimension of the solutions increases at each stage. Also as 
mentioned in section 2-1 the number of independent 5 point cases graph patterns was 118 cases. 

3.1. Analyzing 5 Point Case in 3D Space 
To determine the number of independent solutions of 5 point 3D case it should be noted that one can always fix 
4 points with arbitrary pattern of a sequence related to distinct lengths. Thus, only the fifth point should be found. 
If there is a vertex the attached sides of which are { }1 2 2 3, , ,l l l l  and { }1 2 2 4, , ,l l l l  the intersection gives a plane 
and a sphere which may lead to a circle or ellipse, therefore in such conditions there will be only one solution 
with a dimension equal to 1. Also, if there is a vertex, the attached sides of which are as { }1 3 3 3, , ,l l l l , the geo-
metric location of the vertex is on a line and there will be a solution with at least one dimension. Among 118 
independent graphs for 5 point case, there are 19 cases that have such conditions, five for { }1 3 3 3, , ,l l l l  and 14  
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Table 12. Solutions of sequence {1,1,2,2,4,5,6,7} with one degree of freedom.                                                 

 ( )6 7 8, ,P P P  n 

 

( )6 3 4 5 3 4 5,P x x x y y y= + − + −  

( ) ( )( )7 sin 30 2 , 3 cos 30 2P a a= − − + −  

( )8 1 5 7 1 5 7,P x x x y y y= + − + −  

18 24 26 35 37 46 57d d d d d d d= = = = = =  

16 17 25 28 58 67d d d d d d= = = = =  

12 13 14 23 47d d d d d= = = =  

14 15 45 36d d d d= = =  

27 38d d=  

48 57d d=  

68d  

78d  

1 

 

( )6 3 4 5 3 4 5,P x x x y y y= + − + −  

( )7 3 4 1 3 4 1,P x x x y y y= + − + −  

( )8 1 2 5 1 2 5,P x x x y y y= + − + −  

14 15 28 36 37 45 67d d d d d d d= = = = = =  

16 18 25 27 57 68d d d d d d= = = = =  

12 13 23 34 47d d d d d= = = =  

24 26 35 46d d d d= = =  

17 38d d=  

48 56d d=  

58d  

78d  

2 

 
Table 13. Solutions of sequence {1,1,1,3,4,5,6,7} with one degree of freedom.                                                 

 ( )6 7 8, ,P P P  n 

 

( ) ( )( )6 sin 30 2 , 3 cos 30 2P a a= − − + −  

( )7 1 5 6 1 5 6,P x x x y y y= + − + −  

( )8 4 7 2 4 7 2,P x x x y y y= + − + −  

17 18 24 35 36 56 78d d d d d d d= = = = = =  

12 13 23 34 46 58d d d d d d= = = = =  

16 25 27 48 57d d d d d= = = =  

26 28 37 68d d d d= = =  

14 15 45d d d= =  

38d  

47d  

78d  

3 
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Continued 

 

( )6 3 4 5 3 4 5,P x x x y y y= + − + −  

( ) ( )( )7 sin 30 2 , 3 cos 30 2P a a= − − + −  

( )8 1 4 6 1 4 6,P x x x y y y= + − + −  

18 24 26 35 37 46 57d d d d d d d= = = = = =  

12 13 23 34 47 58d d d d d d= = = = =  

16 17 25 48 67d d d d d= = = =  

14 15 36 45d d d d= = =  

27 28 78d d d= =  

38d  

56d  

68d  

4 

 

( )6 3 4 5 3 4 5,P x x x y y y= + − + −  

( )7 3 4 1 3 4 1,P x x x y y y= + − + −  

( )8 4 2 5 4 2 5,P x x x y y y= + − + −  

14 15 28 36 37 45 67d d d d d d d= = = = = =  

12 13 23 34 47 68d d d d d d= = = = =  

16 25 27 48 57d d d d d= = = =  

24 26 35 46d d d d= = =  

17 18 78d d d= =  

38d  

56d  

58d  

5 

 
Table 14. Solution of sequence {1,2,2,3,4,5,6,6,7}.                                                                                                 

 ( )3 4 5 6 7 8 9, , , , , ,P P P P P P P  n 

 

3

1 3,
2 2

P
 

= −  
 

 

( ) ( ) ( )( )4 2cos 60 cos ,sinP a a a= + ⋅  

( ) ( )( )5 1 cos 2 , sin 2P a a= − −  

( ) ( )( )6 sin 2 30 , cos 2 30P a a= + − +  

( )7 4 3 6 4 3 6,P x x x y y y= + − + −  

( )8 4 7 1 4 7 1,P x x x y y y= − + − +  

( )9 3 8 5 3 8 5,P x x x y y y= + − + −  

12 13 16 23 25 34 68d d d d d d d= = = = = =  

19 28 37 45 46 56d d d d d d= = = = =  

15 18 24 36 47 69d d d d d d= = = = =  

17 29 48 49 57d d d d d= = = =  

14 26 35 89d d d d= = =  

27 39 58d d d= =  

59 67d d=  

78 79d d=  

38d  

1 
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Table 15. Solutions of sequence of {1,2,3,3,4,5,7,8} & {1,1,2,2,4,5,6,7,8}.                                                                                                 

 ( )5 6 7 8 9, , , ,P P P P P  n 

 

( )1 cos 2
2

a a− +=  

( )3 sin 2
2

b a= − +  

( ) ( ) ( )( )4 2cos 60 cos ,sinP a a a= + ⋅  

( )5 3 4 1 3 4 1,P x x x y y y= + − + −  

( )6 1 2 1 2,P x x a y y b= + − + −  

( )7 1 5 1 5,P x x a y y b= + − + −  

( )8 2 3 5 2 3 5,P x x x y y y= + − + −  

( )9 1 3 7 1 3 7,P x x x y y y= + − + −  

14 19 26 28 35 37 57 68d d d d d d d d= = = = = = =  

16 17 25 38 39 67 89d d d d d d d= = = = = =  

12 13 23 34 45d d d d d= = = =  

18 24 27 47d d d d= = =  

49 58 79d d d= =  

46 48 78d d d= =  

56 59 69d d d= =  

15 29d d=  

36d  

2 

 

( ) ( )5

1 3cos 2 , sin 2
2 2

P a a
 

= − + − +  
 

 

( )6 1 2 4 1 2 4,P x x x y y y− += + −  

( )7 5 6 3 5 6 3,P x x x y y y= + − + −  

( )8 2 6 7 2 6 7,P x x x y y y= + − + −  

( )9 3 4 2 3 4 2,P x x x y y y= + − + −  

16 17 24 28 35 39 59 67d d d d d d d d= = = = = = =  

19 25 27 36 38 57 68d d d d d d d= = = = = =  

12 13 23 34 49d d d d d= = = =  

14 15 26 45d d d d= = =  

18 29 37d d d= =  

46 47 56d d d= =  

78 79 89d d d= =  

58 69d d=  

48d  

3 
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Continued 

 

( ) ( )5

1 3cos 2 , sin 2
2 2

P a a
 

= − + − +  
 

 

( ) ( )( )6 sin 30 2 , 3 cos 30 2P a a= − − + −  

( )7 4 6 5 4 6 5,P x x x y y y= + − + −  

( )8 6 61,P x y= +  

( )9 4 5 2 4 5 2,P x x x y y y= + − + −  

12 13 23 34 46 48 68 78d d d d d d d d= = = = = = =  

24 35 36 47 56 59 69d d d d d d d= = = = = =  

16 25 28 37 49 58d d d d d d= = = = =  

14 15 38 45 67d d d d d= = = =  

17 19 57 79d d d d= = =  

27 39d d=  

26 89d d=  

18d  

29d  

4 

 
Table 16. Solutions of sequence {1,1,2,2,4,5,6,7,8}.                                                                                                 

 ( )4 5 6 7 8 9, , , , ,P P P P P P  a n 

 

( )4

1 7 21, 3 7
8

P = − − +  

( )5

1 1, 2 3 7
4

P = − +  

( )6

1 9 21, 3 7
8

P = − − −  

( )7

1 1 21, 3 7
8

P = + −  

8

1 3,
2 2

P
 

=   
 

 

( )9

1 3 21, 5 3 7
8

P = − − +  

 

12 13 18 23 28 34 49 78d d d d d d d d= = = = = = =  

17 24 26 35 39 46 59d d d d d d d= = = = = =  

16 19 25 37 48 69d d d d d d= = = = =  

14 15 27 36 45d d d d d= = = =  

47 56 57 67d d d d= = =  

29 68d d=  

57 79d d=  

38d  

89d  

1 20.70491sin
8

−   = 
 

 5 



A. Jafari, A. N. Amin 
 

 
157 

Continued 

 

( )4

1 7 21, 2 5 21
8

P  = + + 
 

 

( )5

1 9 21, 3 7
8

P = + − +  

( )6

1 1, 19 4 21
4

P = − +  

( )7

1 1 21, 3 7
8

P = − +  

8

1 3,
2 2

P
 

=   
 

 

( )9 3 21, 5 3 7P = + − −  

12 13 18 23 28 34 49 78d d d d d d d d= = = = = = =  

17 24 25 36 39 45 69d d d d d d d= = = = = =  

15 19 26 37 48 59d d d d d d= = = = =  

14 16 27 35 46d d d d d= = = =  

47 56 57 67d d d d= = =  

29 58d d=  

68 79d d=  

38d  

89d  

1 1sin
8

20.7049− −  −= 
 

 6 

 

4

9 3,
7 7

P
 

= −  
 

 

5

19 3,
14 14

P
 

=   
 

 

6

3 5 3,
7 7

P
 

= −  
 

 

7

11 9 3,
14 14

P
 

= −  
 

 

8

1 3,
2 2

P
 

=   
 

 

9

2 3,
7 7

P
 

= −  
 

 

12 13 18 23 28 34 47 89d d d d d d d d= = = = = = =  

19 24 25 36 37 45 67d d d d d d d= = = = = =  

15 17 26 39 48 57d d d d d d= = = = =  

14 16 29 35 46d d d d d= = = =  

49 56 59 69d d d d= = =  

27 58d d=  

38 79d d=  

68d  

78d  

1 1sin 1
2 7

0.8934−   = 
 

 7 
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Continued 

 

( )4

1 17 3 57, 5 3 19
28

P = − − +  

( )5

1 1 57, 2 419 55 57
28

P  = − − 
 

 

( )6

1 15 57, 2 31 4 57
14

P = − − +  

( )7

1 3 3 57, 19 3 19
28

P = − − +  

8

1 3,
2 2

P
 

=   
 

 

( )9

1 11 3 57, 2 47 5 57
28

P  = + − 
 

 

12 13 18 23 28 34 47 89d d d d d d d d= = = = = = =  

19 24 26 35 37 46 57d d d d d d d= = = = = =  

16 17 25 39 48 67d d d d d d= = = = =  

14 15 45 29 36d d d d d= = = =  

49 56 59 69d d d d= = =  

27 68d d=  

78 79d d=  

38d  

58d  

142.715a = −  

( ) ( )1 1 13 57
2 1

s n
4

i a − +=  
8 

 
Table 17. Solutions of sequence {1,1,2,3,3,5,6,7,8}.                                                                                                 

 

3

1 3,
2 2

P
 

= −  
 

 

4

6 3,
13 13

P
 

=   
 

 

5

9 5 3,
26 26

P
 

= −  
 

 

6

1 11 3,
26 26

P
 −

= −  
 

 

7

25 11 3,
26 26

P
 

= −  
 

 

8

5 3 3,
13 13

P
 

=   
 

 9

3 7 3,
26 26

P
 −

= −  
 

 

12 13 23 34 46 47 67 89d d d d d d d d= = = = = = =  

16 25 27 28 49 39 58d d d d d d d= = = = = =  

12 15 19 37 45 59d d d d d d= = = = =  

18 24 35 36 56d d d d d= = = =  

26 37 78d d d= =  

17 29 68d d d= =  

48 69d d=  

49d  

79d  

1 1sin
13

16.1021

a −  
 
 

=

=
 9 
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Table 18. Solution of sequence {1,1,1,3,4,5,6,7,8}.                                                                                                 

 

4

1 1 1,
6 2 3

P  = − 
 

 

5

1 2 1,
2 3 2 3

P
 

= − + −  
 

 

6

1 1 1 5,
2 6 2 2 3

P  = + − 
 

 

7

1 1 21 ,
6 2 3

P  = − − 
 

 

8

1 1 11 ,
6 2 3

P  = − − + 
 

 

9

3 1 1 1,
2 6 2 2 3

P  = − − 
 

 

15 14 28 29 36 37 45 67d d d d d d d d= = = = = = =  

17 25 26 38 49 56 89d d d d d d d= = = = = =  

12 13 23 34 46 79d d d d d d= = = = =  

18 24 27 35 47d d d d d= = = =  

48 57 58 78d d d d= = =  

16 19 69d d d= =  

39d , 59d , 68d  

1 1sin
3

17.63
2
22

a

−  
 
 

=

=  

( ) 1s n 1
6

i
2

a = −  

10 

 
Table 19. Number of independent solutions for 1 - 8 points.                                                                 

Number of points 1 2 3 4 5 6 7 8 

Number of independent solutions 0 1 1 5 89 55 13 3 

 
cases for { }1 2 2 3, , ,l l l l . But in other conditions, for each case, there will be exactly two distinct solutions and 
thus the total number of 5 point 3D case independent solutions is as follows: 

118 2 19 217× − =  

So, the sequence of the number of solutions in 3D case is: 
1,1, 4, 217,  

On the other hand the (1,3)-Fibonacci sequence is [7]: 
1,1, 4,7,19,40,97,217,508,  

So, based on all above discussions, we ask is there any relation between the number of solutions of the se-
quence length of { }1,2, , 1n −

 for n-point case in any dimension and (P,Q)-Fibonacci sequences? 
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